ﬁ@seé:eﬁ 60: (DMUD) qPs= Questions of Sakku, the Lord/king of the deities:
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1: What are to be got rid of for living peacefully without danger and hostility?

Getting rid of jealousy and avarice.
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2: What is the origin of jealousy and avarice?

Like and dislike (love and hate).
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3: What is the origin of like and dislike? Desire.
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4: What is the origin of desire? Thinking.
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5: What is the origin of thinking?

The tendency to proliferation.
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6: What is the dhamma that demolishes the tendency to proliferation?

Meditation of feeling.
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7: For monks, how do they fulfill 'rules of conduct'?

Controlling one's action and speech and righteous livelihood.
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8: How do they practice to control their sense-doors?

By garding one's own eye, ear, nose, tongue and body.
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9: Do recluses and Brahmins have and teach the same doctrine/practice?

No, they have different doctrine and practice.
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10: Why are they such different?

Because, they have many, various elements/characters/inclinations.
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11: Why do they have many, various elements/characters/inclinations?

Because they do not eradicate their craving/attachment.



